EarHMa Macchl rpamMm.






















52.()81" =5 .208.
1030 == . 30.
70058 =21

60601 6.F6O.




PaccTos1-
HHeEe 3a1

neHb, KM

Koanuecrt
BOAHEH

Bce
PaCCTOA
_HI/Ie,




PelueHn
e

1) 20 x 3= 60(KM) BCé
pPacCTOsSTHHE

2) 60:15=4 (OH) 3a 15 KM.
OTBeT: npoLluen Obl 15

KMWITOMETPOB 3a 4 OHSA






PelueHue.

1) 35:5=7 (Ma) 115 35
e/ I0BEK

2) 45:5=9 (MaL) onga 45
YeJ10BEK.



) 20-5=4(Mamm) mns 20
YyeJIOBEK.

OTBeT: 35 YyenoBek-7 MaLlUuH, 45 4YenoBek-9
MaLlunH,20 YyernoBek-4 MaLUnHbI.






PeweHue.
»1) 80:5=16 (maww) gns 80
YeJlOBEeK.
‘2) 655=13 (Mam) ,ZUIH 65
yeJIOBEeK.



) 55-5=11 (maw) gna 55

YyeroBek.
OT1BeT:80 YenoBek-16

MaLLUWH,65 YernoBek-13

MaLLUWH, 55 yenosek-11
MaLLWH.



